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Same Number Yes No Test

Directions (1-10): This is a test to find out how quickly you can compare two numbers and decide
whether or not they are the same, select "Y" otherwise select 'N' by clicking mouse. Try to solve
following practice problems.
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64248953
(a) Yes
(b) No

189546
(a) Yes
(b) No

6894257
(a) Yes
(b) No

8956317
(a) Yes
(b) No

95836201
(a) Yes
(b) No

64892
(a) Yes
(b) No

876678
(a) Yes
(b) No

767123
(a) Yes
(b) No

12827278
(a) Yes
(b) No

64828954

1289546

6894257

8956312

95846201

64892

876678

767923

12817278
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Q10. 82762782 = 82762782
(a) Yes
(b) No
Solutions
S1. Ans.(b)

Sol. The numbers on both sides of the equation are:

Left side: 64248953 Right side: 64828954

Comparing the two numbers, we can see that the two digits are different (24 vs 82), and everything else
is the same.

Since the numbers are not exactly the same, the answer is:

No (N)

HHTHTUT 3 TAT A HT GCATU &

T TET: 64248953 ITAT TeT: 64828954

TN HEATAT %0l TAAT HA UL, TH a@ Hohl g (o & 31 FoNT-3TAT g (24 FATH 82), 3T ATl H&AT FH1T ¢
= =AU T a9 51 &, T 37 &

No (N)

$2. Ans.(b)

Sol. The numbers on both sides of the equation are:

Left side: 189546 Right side: 109546

Comparing the two numbers, we can see that the two digits are different (18 vs 10), and everything else
is the same.

Since the numbers are not exactly the same, the answer is:

No (N)

HHTHTT 3 TAT A HT 970 &

AT T&: 189546 14T 78T 109546

FAT FEATAT il TAAT FLA UL, TH <F Tl g (9 QT 377 STRT-3TT & (18 TATH 10), 3T FTehl H&AT 991 2|
= Gty Ao aHTT Tal 8, S0 39 5.

No (N)

$3. Ans.(a)

Sol. The numbers on both sides of the equation are:

Left side: 6894257 Right side: 6894257

Comparing the two numbers, we can see that the digits are exactly the same.
Since the numbers are exactly same, the answer is:

Yes (Y)

THTHLOT F AT AL T AT &

AT TeT: 6894257 FTAT TeT: 6894257

TAT HEATST T TAAT Hdd T, TH 3@ Thdl & 1o 3 Toogpel THIT 2|

< Tt faega a9 &, THT 397 &
Yes (Y)
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S4. Ans.(b)

Sol. The numbers on both sides of the equation are:

Left side: 8956317 Right side: 8956312

Comparing the two numbers, we can see that the last two digits are different (12 vs 17), and everything
else is the same.

Since the numbers are not exactly the same, the answer is:

No (N)

THIHTOT & AT Al G&ATU B

1T TeT: 8956317 AT TET: 8956312

T AT il TAAT HA IY, TH @ T g 1o SATTH QT 3(eh TAT-AAT g (12 FATH 17), 3T Tt FeAT
THI 2

< FeaTt faega 9919 Tl ©, TA 397 &

No (N)

S5. Ans.(b)

Sol. The numbers on both sides of the equation are:

Left side: 95836201 Right side: 95846201

Comparing the two numbers, we can see that the two digits are different (83 vs 84), and everything else
is the same.

Since the numbers are not exactly the same, the answer is:

No (N)

THTHTUT 3 TAT A HT G0 &

Tt TeT: 95836201 ITAT 7eT: 95846201

T FEATHAT %l TAAT FLA UL, TH a@ Hohel g (o & 3(eh SANT-3TT & (83 TATH 84), ¥ ATeh! HEAT HH gl

= =AU oo I 5! &, Ty 397 &

No (N)

$6. Ans.(a)

Sol. The numbers on both sides of the equation are:

Left side: 64892 Right side: 64892

Comparing the two numbers, we can see that the digits are exactly the same.
Since the numbers are exactly same, the answer is:

Yes (Y)

FHHIT o FEAT AL T G&ATU &

AT TE: 64892 IAT TET: 64892

TAT HEATSAT T TAAT il T, TH 3@ Tahdl & 1% 37 [Sogel THIT 2|
= Feat faega q97 &, THT 397 &

Yes (Y)

S$7.Ans.(a)

Sol. The numbers on both sides of the equation are:

Left side: 876678 Right side: 876678

Comparing the two numbers, we can see that the digits are exactly the same.
Since the numbers are exactly same, the answer is:

Yes (Y)
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THTHLOT o FAT Al G&ATU B
AT Te7: 876678 ITTT Te1: 876678
FAT FEITAT T TAAT LA U, TH <G Tl g [ 3 [aopel THIT g

Yes (Y)

$8. Ans.(b)

Sol. The numbers on both sides of the equation are:

Left side: 767123 Right side: 767923

Comparing the two numbers, we can see that the two digits are different (71 vs 79), and everything else
is the same.

Since the numbers are not exactly the same, the answer is:

No (N)

HHTHTIT 3 TAT A HT G970 &

AT TeT: 767123 TAT 9eT: 767923

T FEATAT %l TAAT FA UL, TH a@ Hohel g (9 & 37 SRT-3TT g (71 FATH 79), ST dTehT H&AT 94 gl
= AU T J919 51 &, T 397 &

No (N)

S9. Ans.(b)

Sol. The numbers on both sides of the equation are:

Left side: 12827278 Right side: 12817278

Comparing the two numbers, we can see that the two digits are different (82 vs 81), and everything else
is the same.

Since the numbers are not exactly the same, the answer is:

No (N)

HHTHTOT 3 TAT A hT G970 &

ITAT TeT: 12827278 AT 947: 12817278

FAT FEITAT il TAAT FLA U, TH <F Tl g 1o QT 37 F[-3T & (82 FFTH 81), AT ATeh! HEAT HHIA 7
= Gty Ao FHTT Tal 8, S0 39 5.

No (N)

$10. Ans.(a)

Sol. The numbers on both sides of the equation are:

Left side: 82762782 Right side: 82762782

Comparing the two numbers, we can see that the digits are exactly the same.
Since the numbers are exactly same, the answer is:

Yes (Y)

TR o FEAT AT T GV &

AT Te7: 82762782 AT TeT: 82762782

TIAT HEATST T TAAT il T, TH a@ Thdl & 1o 3 Sogpel THT 2|
= Tt faega a9T &, THCT 397 &

Yes (Y)
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